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0:0=0 0+0=0 0="1
0-1=0 1+0=1 1=0
1:0=0 0+1=1
1+1=1 1+1=1

BE, mEE, REMOIETER, (VI TTIEZEE
— 140" 1+1)*1 = 1+(0+0)*1 = 140+1 = 1+0 = 1
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f(A,B)=A+B f(A,B,C)=A+B-C
A B| ¥ A B C| f
0 0 0| 1
0 0 1 0 0 1] 0
0 1] 0 0O 1 0] 0
1 0| 1 o 1 1] o0
1 1 1 1 O O 1
1 0 1 1
1 1 0] 1
1 1 1 1
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la) A-A=A X a &b OIREICER
1b) A+ A=A
22) A-B=B-A
2b) A+B=B+ A
3) A=A
4a) A-A=A-A=0
4b) A+ A=A+A=1
53) A-(B+C)=A-B+A-C
5b) A+ B-C=(A+B) - (A+C)
6a) A+ B=A-B }
- A b ENHYDEE
6b) A-B=A4+ B FELNL0ER
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5b) A+B-C = (A+B)-(A+C) DFEER

A B C | B-C A+B-C A+B A+C (A+B)-(A+C)
0 0 0 0 0 0
0 0 1 0 0 1
0 1 0 0 1 0
0 1 1 1 1 1
1 0 0 0 1 1
1 0 1 0 1 1
1 1 0 0 1 1
1 1 1 1 1 1
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6a) A*B = A-B
A B| AB ||AB||l A B |l AB

0 0

0 1

1 0

1 1

6b) A*B = A+B
AB ||AB|| A B || A+B

IEME PR -F4FE TR0



AND, OR, NOT

D
B |

AND: C = A-B OR: C = A+B NOT: B =
% AHAND, OR

Al — sl
AZ—} B A2£>— - BEDERS
A3—
B=A1-A2:A3 B=A1+A2+A3 %>0—D7
TEiRDA &
DIEMNOTLELY DIEA-TLNVS

TEHEFER T 545 [T-IREBU 7

W
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B) f(A,B,C)=A-B+AC+C
— AB+C L IRAE#ET
=(A+O)YB+C) ... mEEER
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AB=A.-B # AB=A-B
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A B C |ABC|ABc |ABC|ABC | ABC | ABC | ABC | ABC
0 0 0 1
0 0 1 0
0 1 0 0
0 1 1 0
1 0 0 0
1 0 1 0
1 1 0 0
1 1 1 0
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1) f(A,B,C)=AB+C |

= ABC + ABC + ABC + ABC + ABC

A B C AB+C f
0 0 0 1 1 ABC
0 0 1 0 0
0 1 0 1 1 ABC
0 1 1 0 0
1 0 0 1 1 ABC
1 0 1 0 0
1 1 0 1 1 ABC
1 1 1 1 1 ABC
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f(A,B,C)

(D— ABC
(D— ABC l
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- O = O = O = O |0
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(%) f(A,B,C) = ABC + ABC + ABC
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B EMIEFI(NOR), BEMIEFE (NAND), HEfthpimis
F1(EXOR, XORLEEFRED)

1L

A B NOR | NAND 1k {th B4 5 2 A
0 0 1 1 0
0 1 0 1 1
1 0 0 1 1
1 1 0 0 0

NOR%E LLIENANDD—FEFECIANTDRIBER ERITTES

NOR NAND

A-B=(ApA) e (BadB) A B=(ARB)®(A® B)

A4+B=(A®B)a(AeB) A+B=(ARA)®(BR®B)
A=A A A=ARA
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A(BC +C) = ABC + AC < (5a)
= ABC + A(B+ B)C € (4b) (A 1=A)
= ABC + ABC + ABC <« (5a)

la) A-A=A = ABC + ABC + ABC + ABC ¢« (1b)
1b) A+ A=A _ _
2a) A-B=B-A = AB(C+C)+ A(B+ B)C < (5a)
2b) A+ B=B+ A _
3 A=A = AB+ AC < (4b)
A-A=A-A=0 — e
jg% A+ A=A4+A=1 _A(B_I_C)
5a) A-(B+C)=A-B+A-C
50) A+B-C=(A+B)-(A+0C)
6a) A+ B=A-B
6b) A-B=A+B
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